# Hypergeometric-type Bernoulli-Carlitz, Cauchy-Carlitz and Euler-Carlitz numbers 

Takao Komatsu (Wuhan University)

## 1 Introduction

For $N \geq 1$, hypergeometric Bernoulli numbers $B_{N, n}([8,9,11])$ are defined by the generating function

$$
\frac{1}{{ }_{1} F_{1}(1 ; N+1 ; x)}=\frac{x^{N} / N!}{e^{t}-\sum_{n=0}^{N-1} x^{n} / n!}=\sum_{n=0}^{\infty} B_{N, n} \frac{x^{n}}{n!}
$$

where

$$
{ }_{1} F_{1}(a ; b ; z)=\sum_{n=0}^{\infty} \frac{(a)^{(n)}}{(b)^{(n)}} \frac{z^{n}}{n!}
$$

is the confluent hypergeometric function with $(x)^{(n)}=x(x+1) \cdots(x+n-1)(n \geq 1)$ and $(x)^{(0)}=1$. When $N=1, B_{n}=B_{1, n}$ are classical Bernoulli numbers defined by

$$
\frac{t}{e^{t}-1}=\sum_{n=0}^{\infty} B_{n} \frac{t^{n}}{n!}
$$

In addition, hypergeometric Cauchy numbers $c_{N, n}$ (see [13]) are defined by

$$
\frac{1}{{ }_{2} F_{1}(1, N ; N+1 ;-x)}=\frac{(-1)^{N-1} x^{N} / N}{\log (1+t)-\sum_{n=1}^{N-1}(-1)^{N-1} x^{n} / n}=\sum_{n=0}^{\infty} c_{N, n} \frac{x^{n}}{n!}
$$

where

$$
{ }_{2} F_{1}(a, b ; c ; z)=\sum_{n=0}^{\infty} \frac{(a)^{(n)}(b)^{(n)}}{(c)^{(n)}} \frac{z^{n}}{n!}
$$

is the Gauss hypergeometric function. When $N=1, c_{n}=c_{1, n}$ are classical Cauchy numbers defined by

$$
\frac{t}{\log (1+t)}=\sum_{n=0}^{\infty} c_{n} \frac{t^{n}}{n!}
$$

Hypergeometric Euler numbers $E_{N, n}([18])$ are defined by

$$
\frac{1}{{ }_{1} F_{2}\left(1 ; N+1,(2 N+1) / 2 ; t^{2} / 4\right)}=\sum_{n=0}^{\infty} E_{N, n} \frac{t^{n}}{n!}
$$

where ${ }_{1} F_{2}(a ; b, c ; z)$ is the hypergeometric function defined by

$$
{ }_{1} F_{2}(a ; b, c ; z)=\sum_{n=0}^{\infty} \frac{(a)^{(n)}}{(b)^{(n)}(c)^{(n)}} \frac{z^{n}}{n!}
$$

When $N=0$, then $E_{n}=E_{0, n}$ are classical Euler numbers.

On the other hand, L. Carlitz ([1]) introduced analogues of Bernoulli numbers for the rational function (finite) field $K=\mathbb{F}_{r}(T)$, which are called Bernoulli-Carlitz numbers now. Bernoulli-Carlitz numbers have been studied since then (e.g., see [2, 3, 5, 10, 19]). According to the notations by Goss [6], Bernoulli-Carlitz numbers are defined by

$$
\frac{x}{e_{C}(x)}=\sum_{n=0}^{\infty} \frac{B C_{n}}{\Pi(n)} x^{n}
$$

Here, $e_{C}(x)$ are the Carlitz exponential defined by

$$
e_{C}(x)=\sum_{i=0}^{\infty} \frac{x^{r^{i}}}{D_{i}}
$$

where $D_{i}=[i][i-1]^{r} \cdots[1]^{r^{i-1}}(i \geq 1)$ with $D_{0}=1$, and $[i]=T^{r^{i}}-T$. The Carlitz factorial $\Pi(i)$ is defined by

$$
\Pi(i)=\prod_{j=0}^{m} D_{j}^{c_{j}}
$$

for a non-negative integer $i$ with $r$-ary expansion:

$$
i=\sum_{j=0}^{m} c_{j} r^{j} \quad\left(0 \leq c_{j}<r\right)
$$

As analogues of the classical Cauchy numbers $c_{n}$, Cauchy-Carlitz numbers $C C_{n}$ ([12]) are introduced as

$$
\frac{x}{\log _{C}(x)}=\sum_{n=0}^{\infty} \frac{C C_{n}}{\Pi(n)} x^{n}
$$

Here, $\log _{C}(x)$ is the Carlitz logarithm defined by

$$
\log _{C}(x)=\sum_{i=0}^{\infty}(-1)^{i} \frac{x^{r^{i}}}{L_{i}}
$$

where $L_{i}=[i][i-1] \cdots[1](i \geq 1)$ with $L_{0}=1$.
In addition, we define the Carlitz hyperbolic cosine $\operatorname{Cosh}_{C}(x)$ by

$$
\operatorname{Cosh}_{C}(x)=\sum_{i=0}^{\infty} \frac{x^{r^{2 i}}}{D_{2 i}}
$$

and the Carlitz hyperbolic cosine $\operatorname{Sinh}_{C}(x)$ by

$$
\operatorname{Sinh}_{C}(x)=\sum_{i=0}^{\infty} \frac{x^{r^{2 i+1}}}{D_{2 i+1}}
$$

In [12], Bernoulli-Carlitz numbers and Cauchy-Carlitz numbers are expressed explicitly by using the Stirling-Carlitz numbers of the second kind and of the first kind, respectively. These properties are the extensions that Bernoulli numbers and Cauchy numbers are expressed explicitly by using the Stirling numbers of the second kind and of the first kind, respectively.

## 2 Fundamental properties

For $N \geq 1$, define the truncated Bernoulli-Carlitz numbers $B C_{N, n}$ and the truncated CauchyCarlitz numbers $C C_{N, n}$ by

$$
\frac{x^{r^{N}} / D_{N}}{e_{C}(x)-\sum_{i=0}^{N-1} x^{r^{i}} / D_{i}}=\sum_{n=0}^{\infty} \frac{B C_{N, n}}{\Pi(n)} x^{n}
$$

and

$$
\frac{(-1)^{N} x^{r^{N}} / L_{N}}{\log _{C}(x)-\sum_{i=0}^{N-1}(-1)^{i} x^{r^{i}} / L_{i}}=\sum_{n=0}^{\infty} \frac{C C_{N, n}}{\Pi(n)} x^{n},
$$

respectively. When $N=0, B C_{n}=B C_{0, n}$ and $C C_{n}=C C_{0, n}$ are the original BernoulliCarlitz numbers and Cauchy-Carlitz numbers, respectively.

For $N \geq 1$, define the truncated Euler-Carlitz numbers $E C_{N, n}$ by

$$
\frac{x^{r^{2 N}} / D_{2 N}}{\operatorname{Cosh}_{C}(x)-\sum_{i=0}^{N-1} x^{r^{2 i}} / D_{2 i}}=\sum_{n=0}^{\infty} \frac{E C_{N, n}}{\Pi(n)} x^{n}
$$

When $N=0, E C_{n}=E C_{0, n}$ are the Euler-Carlitz numbers, defined by

$$
\frac{x}{\operatorname{Cosh}_{C}(x)}=\sum_{n=0}^{\infty} \frac{E C_{n}}{\Pi(n)} x^{n}
$$

Finally, define the truncated Euler-Carlitz numbers of the second kind $\widehat{E C}_{N, n}$ by

$$
\frac{x^{r^{2 N+1}} / D_{2 N+1}}{\operatorname{Sinh}_{C}(x)-\sum_{i=0}^{N-1} x^{r^{2 i+1}} / D_{2 i+1}}=\sum_{n=0}^{\infty} \frac{\widehat{E C}_{N, n}}{\Pi(n)} x^{n}
$$

When $N=0, \widehat{E C}_{n}=\widehat{E C}_{0, n}$ are the Euler-Carlitz numbers of the second kind, defined by

$$
\frac{x^{r} / D_{1}}{\operatorname{Sinh}_{C}(x)}=\sum_{n=0}^{\infty} \frac{\widehat{E C}_{n}}{\Pi(n)} x^{n}
$$

We obtain some explicit expressions of the hypergeometric Bernoulli-Carlitz numbers $B C_{N, n}$, the hypergeometric Cauchy numbers $C C_{N, n}$, the hypergeometric Bernoulli-Carlitz numbers $E C_{N, n}$ and the hypergeometric Bernoulli-Carlitz numbers $\widehat{E C}_{N, n}$, respectively.

Theorem 1. For $n \geq 1$,

$$
B C_{N, n}=\Pi(n) \sum_{k=1}^{n}\left(-D_{N}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{N+i_{1}}+\cdots+r^{N+i_{k}}=n+k r^{N}}} \frac{1}{D_{N+i_{1}} \cdots D_{N+i_{k}}} .
$$

Remark. When $N=0$, we have

$$
B C_{n}=\Pi(n) \sum_{k=1}^{n}(-1)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{i_{1}}+\cdots+r^{i} k=n+k}} \frac{1}{D_{i_{1}} \cdots D_{i_{k}}}
$$

which is Theorem 4.2 in [10].

We can express the hypergeometric Bernoulli-Carlitz numbers in terms of the binomial coefficients too.

Proposition 1. For $n \geq 1$,

$$
B C_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1}\left(-D_{N}\right)^{k} \quad \sum_{\substack{i_{1}, \ldots, i_{k} \geq 0 \\ r^{N+i_{1}}+\cdots+r^{N+i_{k}=n+k r^{N}}}} \frac{1}{D_{N+i_{1}} \cdots D_{N+i_{k}}} .
$$

Remark. When $N=0$, we have

$$
B C_{n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1}(-1)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 0 \\ r^{i_{1}}+\ldots+r^{2} k=n+k}} \frac{1}{D_{i_{1}} \cdots D_{i_{k}}}
$$

which is Proposition 4.4 in [10].
Next, we shall give an explicit formula for hypergeometric Cauchy-Carlitz numbers.
Theorem 2. For $n \geq 1$,

$$
C C_{N, n}=\Pi(n) \sum_{k=1}^{n}\left(-L_{N}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{N+i_{1}}+\cdots+r^{N+i_{k}}=n+k r^{N}}} \frac{(-1)^{i_{1}+\cdots+i_{k}}}{L_{N+i_{1}} \cdots L_{N+i_{k}}} .
$$

Remark. When $N=1$, we have

$$
C C_{n}=\Pi(n) \sum_{k=1}^{n}(-1)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{2}+\cdots+r^{k} k=n+k}} \frac{(-1)^{i_{1}+\cdots+i_{k}}}{L_{i_{1}} \cdots L_{i_{k}}}
$$

which is Theorem 3 in [12].
We can express the hypergeometric Cauchy numbers in terms of the binomial coefficients too.

Proposition 2. For $n \geq 1$,

$$
C C_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1}\left(-L_{N}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 0 \\ r^{N+i_{1}}+\cdots+r^{N+i_{k}}=n+k r^{N}}} \frac{(-1)^{i_{1}+\cdots+i_{k}}}{L_{N+i_{1}}^{\cdots L_{N+i_{k}}} .}
$$

We can obtain explicit expressions of the hypergeometric Euler-Carlitz numbers $E C_{N, n}$.
Theorem 3. For $n \geq 1$,

$$
E C_{N, n}=\Pi(n) \sum_{k=1}^{n}\left(-D_{2 N}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{2 N+2 i_{1}+\cdots+r^{N}+2 i_{k=n+k r^{2 N}}}}} \frac{1}{D_{2 N+2 i_{1}} \cdots D_{2 N+2 i_{k}}} .
$$

We can get the form with binomial coefficients.

Proposition 3. For $n \geq 1$,

$$
E C_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1}\left(-D_{2 N}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 0 \\ r^{2 N+2 i_{1}+\cdots+r^{2 N+2 i_{k=n+k r}}+}}} \frac{1}{D_{2 N+2 i_{1}} \cdots D_{2 N+2 i_{k}}}
$$

When $N=0$, we have the expression of the Euler-Carlitz numbers $E C_{n}$.
Corollary 1. For $n \geq 1$, we have

$$
\begin{aligned}
E C_{n} & =\Pi(n) \sum_{k=1}^{n}(-1)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\
r^{2} i_{1}+\cdots+r^{2 i} k_{k}=n+k}} \frac{1}{D_{2 i_{1}} \cdots D_{2 i_{k}}} \\
& =\Pi(n) \sum_{k=1}^{n}(-1)^{k}\binom{n+1}{k+1} \sum_{\substack{i_{1}, \ldots, i_{2} \geq 0 \\
r^{2} i_{1}+\cdots+r^{2} k_{k}=n+k}} \frac{1}{D_{2 i_{1}} \cdots D_{2 i_{k}}}
\end{aligned}
$$

In a similar manner, we have an explicit expression of the hypergeometric Euler-Carlitz numbers of the second kind $\widehat{E C}_{N, n}$.

Theorem 4. For $n \geq 1$,

$$
\widehat{E C}_{N, n}=\Pi(n) \sum_{k=1}^{n}\left(-D_{2 N+1}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\ r^{2 N+2 i_{1}+1}+\cdots+r^{2 N+2 i_{k}+1}=n+k r^{2 N+1}}} \frac{1}{D_{2 N+2 i_{1}+1} \cdots D_{2 N+2 i_{k}+1}} .
$$

We can get the form with binomial coefficients. Note that each $i$ takes 0 too in this case.
Proposition 4. For $n \geq 1$,

$$
\begin{aligned}
\widehat{E C}_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1} & \left(-D_{2 N+1}\right)^{k} \\
& \times \sum_{\substack{i_{1}, \ldots, i_{i} \geq 0 \\
r^{2 N+2 i_{1}+1}+\cdots+r^{2 N+2 i_{k}+1}=n+k r^{2 N+1}}} \frac{1}{D_{2 N+2 i_{1}+1} \cdots D_{2 N+2 i_{k}+1}} .
\end{aligned}
$$

When $N=0$, we have the expression of the Euler-Carlitz numbers of the second kind $\widehat{E C}_{n}$.

Corollary 2. For $n \geq 1$, we have

$$
\begin{aligned}
& \widehat{E C}_{n}=\Pi(n) \sum_{k=1}^{n}\left(-D_{1}\right)^{k} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 1 \\
r^{2} \\
r^{2}+1 \\
\cdots+r^{2} i_{k}+1 \\
=n+k r}} \frac{1}{D_{2 i_{1}+1} \cdots D_{2 i_{k}+1}} \\
& =\Pi(n) \sum_{k=1}^{n}\left(-D_{1}\right)^{k}\binom{n+1}{k+1} \sum_{\substack{i_{1}, \ldots, i_{k} \geq 0 \\
r^{2} i_{1}+1 \\
k+r^{2} k^{2}=1 \\
=n+k r}} \frac{1}{D_{2 i_{1}+1} \cdots D_{2 i_{k}+1}} .
\end{aligned}
$$

## 3 Incomplete Stirling-Carlitz numbers

In [12], as analogues of the Stirling numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]$ defined by

$$
\frac{(-\log (1-t))^{k}}{k!}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right] \frac{t^{n}}{n!}
$$

the Stirling-Carlitz numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]_{C}$ were introduced by

$$
\frac{\left(\log _{C}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n  \tag{1}\\
k
\end{array}\right]_{C} \frac{z^{n}}{\Pi(n)}
$$

As analogues of the Stirling numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}$ defined by

$$
\frac{\left(e^{t}-1\right)^{k}}{k!}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\} \frac{t^{n}}{n!},
$$

the Stirling-Carlitz numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C}$ were introduced by

$$
\frac{\left(e_{C}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{C} \frac{z^{n}}{\Pi(n)}
$$

By the definition (1), we have

$$
\left[\begin{array}{l}
n \\
0
\end{array}\right]_{C}=0 \quad(n \geq 1), \quad\left[\begin{array}{c}
n \\
m
\end{array}\right]_{C}=0 \quad(n<m) \quad \text { and } \quad\left[\begin{array}{l}
n \\
n
\end{array}\right]_{C}=1 \quad(n \geq 0)
$$

and

$$
\left\{\begin{array}{l}
n \\
0
\end{array}\right\}_{C}=0 \quad(n \geq 1), \quad\left\{\begin{array}{c}
n \\
m
\end{array}\right\}_{C}=0 \quad(n<m) \quad \text { and } \quad\left\{\begin{array}{l}
n \\
n
\end{array}\right\}_{C}=1 \quad(n \geq 0)
$$

On the other hand, in $[4,14,15,16]$, so-called incomplete Stirling numbers of the fist kind and of the second kind were introduced as some generalizations of the classical Stirling numbers of the fist kind and of the second kind. One of the incomplete Stirling numbers is restricted Stirling number, and another is associated Stirling number. Associated Stirling numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\geq m}$ are given by

$$
\frac{\left(e^{x}-E_{m-1}(x)\right)^{k}}{k!}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{\geq m} \frac{x^{n}}{n!} \quad(m \geq 1)
$$

where

$$
E_{m}(x)=\sum_{n=0}^{m} \frac{x^{n}}{n!}
$$

When $m=1,\left\{\begin{array}{l}n \\ k\end{array}\right\}=\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\geq 1}$ is the classical Stirling numbers of the second kind. Restricted Stirling numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\geq m}$ are given by

$$
\frac{\left(E_{m}(x)-1\right)^{k}}{k!}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{\leq m} \frac{x^{n}}{n!} \quad(m \geq 1)
$$

When $m \rightarrow \infty,\left\{\begin{array}{l}n \\ k\end{array}\right\}=\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\leq \infty}$ is the classical Stirling numbers of the second kind.

Associated Stirling numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]_{\geq m}$ are given by

$$
\frac{\left(-\log (1-x)+F_{m-1}(-x)\right)^{k}}{k!}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\geq m} \frac{x^{n}}{n!} \quad(m \geq 1)
$$

where

$$
F_{m}(t)=\sum_{k=1}^{m}(-1)^{k+1} \frac{t^{k}}{k}
$$

When $m=1,\left[\begin{array}{l}n \\ k\end{array}\right]=\left[\begin{array}{l}n \\ k\end{array}\right]_{\geq 1}$ is the classical Stirling numbers of the first kind. Restricted Stirling numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]_{\geq m}$ are given by

$$
\frac{\left(-F_{m}(-x)\right)^{k}}{k!}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\leq m} \frac{x^{n}}{n!} \quad(m \geq 1)
$$

When $m \rightarrow \infty,\left[\begin{array}{l}n \\ k\end{array}\right]=\left[\begin{array}{l}n \\ k\end{array}\right]_{\leq \infty}$ is the classical Stirling numbers of the first kind.
Now, we introduce associated Stirling-Carlitz numbers and restricted Stirling-Carlitz numbers. The partial sum of the Carlitz exponential is denoted by

$$
\mathcal{E}_{m}(x)=\sum_{i=0}^{m} \frac{x^{r^{i}}}{D_{i}}
$$

The associated Stirling-Carlitz numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C, \geq m}$ are defined by

$$
\frac{\left(e_{C}(z)-\mathcal{E}_{m-1}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n  \tag{2}\\
k
\end{array}\right\}_{C, \geq m} \frac{z^{n}}{\Pi(n)}
$$

The restricted Stirling-Carlitz numbers of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C, \leq m}$ are defined by

$$
\frac{\left(\mathcal{E}_{m}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left\{\begin{array}{l}
n  \tag{3}\\
k
\end{array}\right\}_{C, \leq m} \frac{z^{n}}{\Pi(n)}
$$

When $m=0$ in (2) or $m \rightarrow \infty$ in (3), $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C}=\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C, \geq 0}=\left\{\begin{array}{l}n \\ k\end{array}\right\}_{C, \leq \infty}$ is the original StirlingCarlitz number of the second kind. The partial sum of the Carlitz logarithm is denoted by

$$
\mathcal{F}_{m}(x)=\sum_{i=0}^{m}(-1)^{i} \frac{x^{r^{i}}}{L_{i}}
$$

The associated Stirling-Carlitz numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]_{C, \geq m}$ are defined by

$$
\frac{\left(\log _{C}(z)-\mathcal{F}_{m-1}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n  \tag{4}\\
k
\end{array}\right]_{C, \geq m} \frac{z^{n}}{\Pi(n)}
$$

The restricted Stirling-Carlitz numbers of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]_{C, \leq m}$ are defined by

$$
\frac{\left(\mathcal{F}_{m}(z)\right)^{k}}{\Pi(k)}=\sum_{n=0}^{\infty}\left[\begin{array}{l}
n  \tag{5}\\
k
\end{array}\right]_{C, \leq m} \frac{z^{n}}{\Pi(n)}
$$

When $m=0$ in (4) or $m \rightarrow \infty$ in (5), $\left[\begin{array}{l}n \\ k\end{array}\right]_{C}=\left[\begin{array}{l}n \\ k\end{array}\right]_{C, \geq 0}=\left[\begin{array}{l}n \\ k\end{array}\right]_{C, \leq \infty}$ is the original StirlingCarlitz number of the first kind.

Due to associated Stirling-Carlitz numbers of the second kind in (2), we can obtain a more explicit expression of hypergeometric Bernoulli-Carlitz numbers, expressed in Theorem 1 or Proposition 1.

Theorem 5. For $N \geq 1$ and $n \geq 1$, we have

$$
B C_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1} \frac{\left(-D_{N}\right)^{k} \Pi(k)}{\Pi\left(n+k r^{N}\right)}\left\{\begin{array}{c}
n+k r^{N} \\
k
\end{array}\right\}_{C, \geq N}
$$

Bernoulli-Carlitz numbers can be expressed in term of the Stirling-Carlitz numbers of the second kind:

$$
B C_{n}=\sum_{j=0}^{\infty} \frac{(-1)^{j} D_{j}}{L_{j}^{2}}\left\{\begin{array}{c}
n \\
r^{j}-1
\end{array}\right\}_{C}
$$

([12, Theorem 2]). When $N=0$, Theorem 5 is reduced to a different expression of BernolliCarlitz numbers in terms of the Stirling-Carlitz numbers of the second kind.

Corollary 3. For $n \geq 1$, we have

$$
B C_{n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1} \frac{(-1)^{k} \Pi(k)}{\Pi(n+k)}\left\{\begin{array}{c}
n+k \\
k
\end{array}\right\}_{C} .
$$

Remark. This is an analogue of

$$
B_{n}=\sum_{k=1}^{n} \frac{(-1)^{k}\binom{n+1}{k+1}}{\binom{n+k}{k}}\left\{\begin{array}{c}
n+k \\
k
\end{array}\right\}
$$

which is a simple formula appeared in [7, 20].
Similarly, due to associated Stirling-Carlitz numbers of the first kind in (4), we can obtain a more explicit expression of hypergeometric Cauchy-Carlitz numbers, expressed in Theorem 2 or Proposition 2.

Theorem 6. For $N \geq 1$ and $n \geq 1$, we have

$$
C C_{N, n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1} \frac{(-1)^{N k}\left(-L_{N}\right)^{k} \Pi(k)}{\Pi\left(n+k r^{N}\right)}\left[\begin{array}{c}
n+k r^{N} \\
k
\end{array}\right]_{C, \geq N}
$$

Cauchy-Carlitz numbers can be expressed in term of the Stirling-Carlitz numbers of the first kind:

$$
C C_{n}=\sum_{j=0}^{\infty} \frac{1}{L_{j}}\left[\begin{array}{c}
n \\
r^{j}-1
\end{array}\right]_{C}
$$

([12, Theorem 1]). When $N=0$, Theorem 6 is reduced to a different expression of CauchyCarlitz numbers in terms of the Stirling-Carlitz numbers of the first kind.

Corollary 4. For $n \geq 1$, we have

$$
C C_{n}=\Pi(n) \sum_{k=1}^{n}\binom{n+1}{k+1} \frac{(-1)^{k} \Pi(k)}{\Pi(n+k)}\left[\begin{array}{c}
n+k \\
k
\end{array}\right]_{C} .
$$

Remark. This is an analogue of

$$
c_{n}=\sum_{k=1}^{n} \frac{(-1)^{n-k}\binom{n+1}{k+1}}{\binom{n+k}{k}}\left[\begin{array}{c}
n+k \\
k
\end{array}\right]
$$

which is Proposition 2 in [12].

## 4 Determinant expression of Bernoulli-Carlitz, CauchyCarlitz and Euler-Carlitz numbers

We give a determinant expression of truncated Cauchy-Carlitz numbers.
Theorem 7. For integers $N \geq 0$ and $n \geq 1$,

$$
C C_{N, n}=\Pi(n)\left|\begin{array}{ccccc}
-a_{1} & 1 & 0 & & \\
a_{2} & -a_{1} & \ddots & & \\
& & \ddots & \ddots & 0 \\
& & & -a_{1} & 1 \\
(-1)^{n} a_{n} & & & a_{2} & -a_{1}
\end{array}\right|
$$

where

$$
a_{l}=\frac{(-1)^{N+\log _{r}\left(l+r^{N}\right)} L_{N} \delta_{l}^{*}}{L_{\log _{r}\left(l+r^{N}\right)}} \quad(l \geq 1)
$$

with

$$
\delta_{l}^{*}= \begin{cases}1 & \text { if } l=r^{N+i}-r^{N}(i=0,1, \ldots)  \tag{6}\\ 0 & \text { otherwise }\end{cases}
$$

We give a determinant expression of truncated Bernoulli-Carlitz numbers.
Theorem 8. For integers $N \geq 0$ and $n \geq 1$,

$$
B C_{N, n}=\Pi(n)\left|\begin{array}{ccccc}
-d_{1} & 1 & 0 & & \\
d_{2} & -d_{1} & \ddots & & \\
& & \ddots & \ddots & 0 \\
& & & -d_{1} & 1 \\
(-1)^{n} d_{n} & & & d_{2} & -d_{1}
\end{array}\right|
$$

where

$$
d_{l}=\frac{D_{N} \delta_{l}^{*}}{D_{\log _{r}\left(l+r^{N}\right)}} \quad(l \geq 1)
$$

with $\delta_{l}^{*}$ as in (6).
The Euler-Carlitz numbers $E C_{n}$ also have a similar determinant expression.
Theorem 9. For $n \geq 0$, we have

$$
E C_{n}=\Pi(n)\left|\begin{array}{ccccc}
-d_{1} & 1 & & & \\
d_{2} & -d_{1} & & & \\
\vdots & \vdots & \ddots & 1 & \\
(-1)^{n-1} d_{n-1} & (-1)^{n-2} d_{n-2} & \cdots & -d_{1} & 1 \\
(-1)^{n} d_{n} & (-1)^{n-1} d_{n-1} & \cdots & d_{2} & -d_{1}
\end{array}\right|,
$$

where

$$
d_{l}=\frac{\delta_{l}^{*}}{D_{\log _{r}(l+1)}} \quad(l \geq 1)
$$

with

$$
\delta_{l}^{*}= \begin{cases}1 & \text { if } l=r^{2 i}-1(i=0,1, \ldots) \\ 0 & \text { otherwise }\end{cases}
$$

The Euler-Carlitz numbers of the second kind $\widehat{E C}_{n}$ also have a similar determinant expression.

Theorem 10. For $n \geq 0$, we have

$$
\widehat{E C}_{n}=\Pi(n)\left|\begin{array}{ccccc}
-\widehat{d}_{1} & 1 & & & \\
\widehat{d}_{2} & -\widehat{d}_{1} & & & \\
\vdots & \vdots & \ddots & 1 & \\
(-1)^{n-1} \widehat{d}_{n-1} & (-1)^{n-2} \widehat{d}_{n-2} & \cdots & -\widehat{d}_{1} & 1 \\
(-1)^{n} \widehat{d}_{n} & (-1)^{n-1} \widehat{d}_{n-1} & \cdots & \widehat{d}_{2} & -\widehat{d}_{1}
\end{array}\right|,
$$

where

$$
\widehat{d}_{l}=\frac{\widehat{\delta}_{l}^{*}}{D_{\log _{r}(l+1)}} \quad(l \geq 1)
$$

with

$$
\widehat{\delta}_{l}^{*}= \begin{cases}1 & \text { if } l=r^{2 i+1}-1(i=0,1, \ldots) \\ 0 & \text { otherwise }\end{cases}
$$

## References

[1] L. Carlitz, On certain functions connected with polynomials in a Galois field, Duke Math. J. 1 (1935), 137-168.
[2] L. Carlitz, An analogue of the von Staudt-Clausen theorem, Duke Math. J. 3 (1937), 503-517.
[3] L. Carlitz, An analogue of the Staudt-Clausen theorem, Duke Math. J. 7 (1940), 62-67.
[4] C. A. Charalambides, Enumerative Combinatorics, CRC Press Series on Discrete Mathematics and Its Applications, Chapman and Hall/CRC, Boca Raton, FL, 2002.
[5] E.-U. Gekeler, Some new identities for Bernoulli-Carlitz numbers, J. Number Theory 33 (1989), 209-219.
[6] D. Goss, Basic structures of function field arithmetic, Ergebnisse der Mathematik und ihrer Grenzgebiete (3), 35, Springer-Verlag, Berlin, 1996.
[7] H. W. Gould, Explicit formulas for Bernoulli numbers, Amer. Math. Monthly 79 (1972), 44-51.
[8] A. Hassen and H. D. Nguyen, Hypergeometric Bernoulli polynomials and Appell sequences, Int. J. Number Theory 4 (2008), 767-774.
[9] A. Hassen and H. D. Nguyen, Hypergeometric zeta functions, Int. J. Number Theory 6 (2010), 99-126.
[10] S. Jeong, M.-S. Kim and J.-W. Son, On explicit formulae for Bernoulli numbers and their counterparts in positive characteristic, J. Number Theory 113 (2005), 53-68.
[11] K. Kamano, Sums of products of hypergeometric Bernoulli numbers, J. Number Theory 130 (2010), 2259-2271.
[12] H. Kaneko and T. Komatsu, Cauchy-Carlitz numbers, J. Number Theory 163 (2016), 238-254.
[13] T. Komatsu, Hypergeometric Cauchy numbers, Int. J. Number Theory 9 (2013), 545560.
[14] T. Komatsu, Incomplete poly-Cauchy numbers, Monatsh. Math. 180 (2016), 271-288.
[15] T. Komatsu, K. Liptai and I. Mező, Incomplete poly-Bernoulli numbers associated with incomplete Stirling numbers, Publ. Math. Debrecen 88 (2016), 357-368.
[16] T. Komatsu, I. Mező and L. Szalay, Incomplete Cauchy numbers, Acta. Math. Hungar. 149 (2016), 306-323.
[17] Y. Ohno and Y. Sasaki, On poly-Euler numbers, J. Aust. Math. Soc. 103 (2017), 126144.
[18] T. Komatsu and H. Zhu, Hypergeometric Euler numbers, preprint, arXiv:1612.06210.
[19] J. A. Lara Rodríguez, On von Staudt for Bernoulli-Carlitz numbers, J. Number Theory 132 (2012), 495-501.
[20] S. Shirai and K.-i. Sato, Some identities involving Bernoulli and Stirling numbers, J. Number Theory 90 (2001) 130-142.

